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1. (A) Give the difference between Management Accountancy and Cost Accountancy
and also discuss the limitations of Management Accountancy.

(B)
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OR
Planning department of a company set a standard marginal costs of its
products at ¥ 250 per unit. During a month, when 6000 units were made its
actual production costs amounted to ¥ 18,00,000.
But the management estimated that a more realistic standard costs for
current conditions should be ¥ 400 per unit.

Calculate the planning and operational variances.
Explain opportunity cost of production capacity variance.

Select correct options for each of the following question : (Any Four)

(1

)

€)

(4)

)

(6)

Management Accounting is used for

(a) Internal decision making (b) Past decision

(c) External decision making  (d) None of these

The scope of Cost Accounting is than Management Accounting.
(a) wider (b) narrow

(c) (a)and (b) both (d) None of these
Which of the following method is a method of Management Accounting ?
(a) Single entry system (b) Journal entry

(c) Standard costing (d) None of these

As per opportunity cost approach, material cost variance =

(a)  Actual Quantity (Standard Price — Actual Price)

(b)  Actual Price (Standard Price — Actual Price)

(c) Standard Price (Actual Quantity — Standard Quantity)
(d) None of these

Learning period variance can also be called

(a) Labour Efficiency variance (b) Labour cost variance
(c) Labour rate variance (d) None of these
Planning variance =

(a) Actual Results — Revised Standards

(b) Original Standards — Revised Standards

(c) Original Standards — Actual Results

(d) None of these
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2. (A) The estimated figures of selling expenses of Niraj Ltd. for the year ended on

31% March, 2018 are given below : 14
3
Sales office salaries 1,50,000
Fixed expenses of sales office 1,25,000

Advertisement expenses (fixed) 2,50,000
Travelling Salesmen’s Remuneration :
(1)  Fixed salary and travelling allowances ¥ 5,00,000
(i1)) Commission at 2% on sales

carriage outward is paid at 5% on sales and other agent’s general
commission is paid at 6% on sales.

You are required to prepare selling overhead budget for the following levels of sales.
(i)  Total sales X 35,00,000 including % 5,00,000 sales by other agents.

(i) Total sales ¥ 42,00,000 including ¥ 7,00,000 sales by other agents.

(ii1)) Total sales ¥ 50,00,000 including X 8,00,000 sales by other agents.

(iv) Total sales ¥ 60,00,000 including ¥ 10,00,000 sales by other agents.

OR
(1) Explain Master Budget 7
(2) Discuss limitations of Budgeting. 7
(B) Select correct option for each of the following questions : (Any Four) 4
(1)  Which of the following is a distribution costs ?
(a) Transport costs (b) Advertisement expenses
(c) Sales office expenses (d) None of these

(2) The responsibility for preparation of sales Budget of the company is on

(a) Sales manager (b)  Accountant

(c) Auditor (d) None of these
(3) Most of administrative costs are .

(a) Fixed (b) Variable

(c) Semi-variable (d) None of these
(4) Master Budget is also known as .

(a) Summary budget (b) Cash budget

(c) Capital budget (d) None of these
(5)  Which of the following is not considered while preparing cash budget ?

(a) Depreciation (b) Cash sales

(c) Payment of wages (d) None of these
(6) Principal Budget factor is also known as .

(a) Key factor (b) Trading account

(c) Balance sheet (d) None of these
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3. (A) The following particulars are obtain from records of Niyati Ltd. 14
Standard Actual

Units sold 50,000 40,000
Selling price per unit %70 %90
Material price per kg 34 X6
Material consumption per unit 4 kg 4 kg
Labour hours per unit 5 6
Wages per hour %0.70 %0.80
Variable cost per labour hour 1 T 1.25
Fixed overhead per unit 31.40 T 1.60

You are required to calculate necessary variances and also prepare
reconciliation statement.

OR
(1) Explain the single plan method of recording variances. 7
(2) Explain the dual plan system of recording variances. 7
(B) Select correct option for each of the following question : (Any Three) 3
(1) Expenditure variance is also known as —
(a) Volume variance (b) Budget variance
(c) Efficiency variance (d) None of these

(2) Wage rate variance =
(a) Standard hours (Actual rate — Standard rate)
(b)  Actual hours (Standard rate — Actual rate)
(c) Standard rate (Actual hours — Standard hours)
(d) None of these
(3) Sales margin price variance =
(a) Standard quantity (Standard proﬁt Actual profit)
(b)  Actual quantity (Actual profit — Budget profit)
(c) Standard price (Budgeted quantity — Actual quantity)
(d) None of these
(4) Idle Time variance =
(a) Idle time x Actual rate (b) Idle time x Standard rate
(c) Actual time x Actual rate  (d) None of these
(5) Material cost variance =
(a) Material usage variance + Material mix variance
(b) Material price variance + Material usage variance
(c) Material usage variance + Material sub usage variance
(d) None of these
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4.  (A) What are various models indicating investigation of variances ? Discuss each of
them in detail. 14

(B)
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OR

Misha Ltd. using detailed system of standard costing finds that costs of
investigation of variances is ¥ 70,000. If after investigation an out of control
situation is discovered, the cost of correction is I 1,00,000. If no
investigation is made, the present value of extra cost involved is < 5,00,000.
The probability of the process being in control is 0.80 and the probability of
the process being out of control is 0.20

You are required to advise.
(i)  Whether investigation of the variance should be undertaken or not.
(i1)) The probability at which it is desirable to company investigation into

variances. 7

(2) Explain the controllability of variances. 7
Select correct option for each of the following question : (Any Three) 3
(1)  Which of the following is not a variance investigation model ?

(a) Control charts model (b) Materiality significance model

(c) Profit volume model (d) None of these
(2) Inthe formula C < (1 -P) L, “L” denote for

(a) Cost of Investigation (b) Net Loss

(c) Net Benefit (d) None of these
(3) As per Cost-Benefit model, a variance should be investigated if

(a) Cost of investigation is more than Net Benefits.

(b) Cost of investigation and Net Benefits are equal.

(c) Cost of investigation is less than Net Benefits

(d) None of these
(4) CUSUM chart is used for

(a) Materiality significance model

(b) Statistical significance model

(c) Control charts model

(d) None of these
(5) As per standard cost system, who is responsible for adverse material price

variance ?
(a) Sales Manager (b)  Accountant
(c) Purchase Manager (d) None of these



